




91

Indoor unit - floor-mounted cabinet unit

MMF-AP0151H, AP0181H, AP0241H, AP0271H

All dimensions are given in mm.

Legend
1. Wall
2. With 50 mm wall clearance
3. Lower refrigerant pipe connection (50 x 120 knockout hole)
4. Installation plate
5. Air outlet
6. Air inlet
7. Refrigerant pipe connection (rear) (Ø130 knockout hole)
8. Drain hose
9. Refrigerant pipe connection (bottom) (50 x 120 knockout hole)

10. Earth screw M4
11. Refrigerant pipe connection (both sides) (Ø80 knockout hole)
12. Control panel
13. Panel cover
14. 2-lower hole (for M8 screw or M8 anchor bolt)
15. Ø130 knockout hole (for rear piping)
16. Refrigerant pipe connection (gas ØA)
17. Refrigerant pipe connection (liquid ØB)
18. 4-lower hole (for M8 screw or M8 anchor bolt)
19. 15 x 120 square hole (for bottom piping)
20. Floor

Space required for service 
(for right-hand piping)

Front

Fr
on

t

Refrigerant pipe positions

Details of hole for bottom pipingDetails of hole for rear piping

Model ØA ØB
MMF-AP0151H, AP0181H 1/2” 1/4”
MMF-AP0241H, AP0271H 5/8” 3/8”



92

Indoor unit - floor-mounted cabinet unit

MMF-AP0361H, AP0481H, AP0561H

All dimensions are given in mm.

Legend
1. Wall
2. With 50 mm wall clearance
3. Lower refrigerant pipe connection (50 x 120 knockout hole)
4. Installation plate
5. Air outlet
6. Air inlet
7. Refrigerant pipe connection (rear) (Ø130 knockout hole)
8. Drain hose
9. Refrigerant pipe connection (bottom) (50 x 120 knockout hole)
10. Earth screw M4

11. Refrigerant pipe connection (both sides) (Ø80 knockout hole)
12. Control panel
13. Panel cover
14. 2-lower hole (for M8 screw or M8 anchor bolt)
15. Ø130 knockout hole (for rear piping)
16. Refrigerant pipe connection (gas Ø3/4”)
17. Refrigerant pipe connection (liquid Ø3/8”)
18. Liquid side
19. Gas side
20. 4-lower hole (for M8 screw or M8 anchor bolt)
21. 50 x 120 square hole (for bottom piping)
22. Floor

Space required for service 
(for right-hand piping)

Front

Fr
on

t

Refrigerant pipe positions

Details of hole for bottom piping
Details of hole for rear piping



93

Remote controller

Wired remote controller

RBC-AMT31E

Simplified remote controller

RBC-AS21E

All dimensions are given in mm.



94

Wireless remote controller

TCB-AX21U (W)-E

Wireless remote controller kit

RBC-AX22CE

All dimensions are given in mm.



95

Wireless remote controller kit

TCB-AX21E

Weekly timer

RBC-EXW21E

4.4 x 9.4 slot

4.4 x 5.4 slot

All dimensions are given in mm.



96

Central remote controller

TCB-SC642TLE

LON Gateway

TCB-IFLN**

All dimensions are given in mm.

200

22 78 78 22

22 78 78 22

66

64

14
7

15
0

17
0



97

TCS-Net relay interface

BMS-IFLSV1E

Touch-screen controller

BMS-TP5120ACE

6 x 5.5 mounting hole

All dimensions are given in mm.



98

Intelligent server

BMS-LSV2E

Energy monitoring relay interface

BMS-IFWH3E

6 x 5.5 mounting hole

All dimensions are given in mm.



99

Digital I/O relay interface

BMS-IFDD01E

Windows-based central controller

BMS-LSV**
7

(2
.4

)
63

.6
7

15
6

17
0

14
4.

9
12

.5
5

12
.5

5

14
6.

9

2222 7878

200

6 – Ø5.5
(2.4) 63.6

234

18
18

63
.5

93
.5

18
18

63
.5

93
.5

63
.6

220

246

6 x 5.5 mounting hole

All dimensions are given in mm.



100

Outdoor module

MMY-MAP0501T8,  MAP0601T8,  MAP0801T8,  MAP1001T8,  MAP1201T8,
MMY-MAP0501HT8,  MAP0601HT8,  MAP0801HT8,  MAP1001HT8,  MAP1201HT8,

Legend
1. Anchor bolt pitch
2. (including feet)
3. 4-15 x 20 (slot)
4. 2-60 x 150 square hole (for forklift truck)
5. Balance pipe connection Ø3/8”
6. Refrigerant pipe connection (liquid ØB)

7. Refrigerant pipe connection (gas ØA)
8. Earthing section of bottom plate
9. Base
10. Knockout for control wiring (Ø27)
11. Knockout hole for power wiring (Ø48)
12. Square hole

All dimensions are given in mm.

Notes:
1. If there is an obstacle at the top of the outdoor unit, ensure that 

the top of the outdoor unit clears the obstacle by 2000 mm.
2. Ensure that the height of obstacles around the outdoor unit 

does not exced 800 mm from the bottom of the outdoor unit.
3. Draw out the field-supplied pipe to the front of the outdoor unit 

horizontally, and keep 500 mm or more between the outdoor 
unit and pipe if placing the pipe transversely.

Model A B C
MMY-MAP0501T8, MAP0501HT8 5/8” 3/8” 280
MMY-MAP0601T8, MAP0601HT8 3/4” 3/8” 280
MMY-MAP0801T8, MAP0801HT8 7/8” 1/2” (205)
MMY-MAP1001T8, MAP1001HT8 7/8” 1/2” (205)
MMY-MAP1201T8, MAP1201HT8 1-1/8” 1/2” (205)
*1 Cutting position of L-shape pipe when pipe is connected at the gas side.
 (Recommended pipe connection position)

Front (for work and service)

Space required for service

Details of front pipe/cabling holes

Details of hole for bottom piping (plane view)

FrontFront

Front

N
ot

e 
3

N
ot

e 
3

MMY-MAP0501T8
MMY-MAP0601T8
MMY-MAP0501HT8
MMY-MAP0601HT8



101

Outdoor module - Two units connected

MMY-AP1401T8,  AP1601T8,  AP1801T8,  AP2001T8,  AP2211T8,  AP2411T8,
MMY-AP1401HT8,  AP1601HT8,  AP1801HT8,  AP2001HT8,  AP2211HT8,  AP2411HT8,

Legend
1. Anchor bolt pitch
2. (including feet)
3. 8-15 x 20 (slot)

All dimensions are given in mm.

Notes:
1. If there is an obstacle at the top of the outdoor unit, ensure that 

the top of the outdoor unit clears the obstacle by 2000 mm.
2. Ensure that the height of obstacles around the outdoor unit 

does not exced 800 mm from the bottom of the outdoor unit.
3. Draw out the field-supplied pipe to the front of the outdoor unit 

horizontally, and keep 500 mm or more between the outdoor 
unit and pipe if placing the pipe transversely.

4. Arrange each outdoor unitin order of its capacity
 (Master unit ≥ slave unit)

Unit combination Outdoor unit combination
 Master unit Slave unit
MMY-AP1401T8, AP1401HT8 MMY-MAP0801T8, MAP0801HT8 MMY-MAP0601T8, MAP0601HT8
MMY-AP1601T8, AP1601HT8 MMY-MAP0801T8, MAP0801HT8 MMY-MAP0801T8, MAP0801HT8
MMY-AP1801T8, AP1801HT8 MMY-MAP1001T8, MAP1001HT8 MMY-MAP0801T8, MAP0801HT8
MMY-AP2001T8, AP2001HT8 MMY-MAP1001T8, MAP1001HT8 MMY-MAP1001T8, MAP1001HT8
MMY-AP2211T8, AP2211HT8 MMY-MAP1201T8, MAP1201HT8 MMY-MAP1001T8, MAP1001HT8
MMY-AP2411T8, AP2411HT8 MMY-MAP1201T8, MAP1201HT8 MMY-MAP1201T8, MAP1201HT8

Front

N
ot

e 
4

N
ot

e 
3

N
ot

e 
4

N
ot

e 
4

N
ot

e 
4

N
ot

e 
3

Front

Front Front

Front Front
Front (For work and service)

Space required for service



102

Outdoor module - Three units connected

MMY- AP2201T8,  AP2401T8,  AP2601T8,  AP2801T8,  AP3001T8,  AP3211T8, AP3411T8,  
AP3611T8

MMY- AP2201HT8,  AP2401HT8,  AP2601HT8,  AP2801HT8,  AP3001HT8,   
AP3211HT8,  AP3411HT8,  AP3611HT8

Notes:
1. If there is an obstacle at the top of the outdoor unit, ensure that 

the top of the outdoor unit clears the obstacle by 2000 mm.
2. Ensure that the height of obstacles around the outdoor unit 

does not exced 800 mm from the bottom of the outdoor unit.
3. Draw out the field-supplied pipe to the front of the outdoor unit 

horizontally, and keep 500 mm or more between the outdoor 
unit and pipe if placing the pipe transversely.

4. Arrange each outdoor unitin order of its capacity
 (Master unit ≥ slave unit ≥ slave unit)

Legend
1. Anchor bolt pitch
2. (including feet)
3. 16-15 x 20 (slot)

All dimensions are given in mm.

N
ot

e 
4

N
ot

e 
3

N
ot

e 
4

N
ot

e 
4

N
ot

e 
3

Front

Front (For work and service)

Space required for service

Front Front

FrontFrontFront

Fr
on

t

N
ot

e 
4

Front Front Front

R
ea

r

Unit combination Outdoor unit combination
 Master unit Slave unit Slave unit
MMY-AP2201T8, HT8 MMY-MAP0801T8, HT8 MMY-MAP0801T8, HT8 MMY-MAP0601T8, HT8
MMY-AP2401T8, HT8 MMY-MAP0801T8, HT8 MMY-MAP0801T8, HT8 MMY-MAP0801T8, HT8
MMY-AP2601T8, HT8 MMY-MAP1001T8, HT8 MMY-MAP0801T8, HT8 MMY-MAP0801T8, HT8
MMY-AP2801T8, HT8 MMY-MAP1001T8, HT8 MMY-MAP1001T8, HT8 MMY-MAP0801T8, HT8
MMY-AP3001T8, HT8 MMY-MAP1201T8, HT8 MMY-MAP1001T8, HT8 MMY-MAP1001T8, HT8
MMY-AP3221T8, HT8 MMY-MAP1201T8, HT8 MMY-MAP1001T8, HT8 MMY-MAP1001T8, HT8
MMY-AP3411T8, HT8 MMY-MAP1201T8, HT8 MMY-MAP1201T8, HT8 MMY-MAP1001T8, HT8
MMY-AP3611T8, HT8 MMY-MAP1201T8, HT8 MMY-MAP1201T8, HT8 MMY-MAP1201T8, HT8



103

Outdoor module - Four units connected

MMY- AP3201T8,  AP3401T8,  AP3601T8,  AP3801T8,  AP4001T8,  AP4201T8, AP4401T8,  
AP4601T8,  AP4801T8

MMY- AP3201HT8,  AP3401HT8,  AP3601HT8,  AP3801HT8,  AP4001HT8,   
AP4201HT8,  AP4401HT8,  AP4601HT8,  AP4801HT8

Legend
1. Anchor bolt pitch
2. (including feet)
3. 16-15 x 20 (slot)

All dimensions are given in mm.

Notes:
1. If there is an obstacle at the top of the 

outdoor unit, ensure that the top of 
the outdoor unit clears the obstacle by 
2000 mm.

2. Ensure that the height of obstacles 
around the outdoor unit does not exced 
800 mm from the bottom of the outdoor 
unit.

3. Draw out the field-supplied pipe to the 
front of the outdoor unit horizontally, 
and keep 500 mm or more between the 
outdoor unit and pipe if placing the pipe 
transversely.

4. Arrange each outdoor unitin order of its 
capacity

 (Master unit ≥ slave unit ≥ slave unit ≥ 
slave unit)

N
ot

e 
3

N
ot

e 
4

N
ot

e 
4

N
ot

e 
3

Front

Front (For work and service)

Space required for service

Front Front

N
ot

e 
4

Front Front Front

Front

FrontFrontFrontFront

Front

Unit combination Outdoor unit combination
 Master unit Slave unit Slave unit Slave unit
MMY-AP3201T8, HT8 MMY-MAP0801T8, HT8 MMY-MAP0801T8, HT8 MMY-MAP0801T8, HT8 MMY-MAP0801T8, HT8
MMY-AP3401T8, HT8 MMY-MAP1001T8, HT8 MMY-MAP0801T8, HT8 MMY-MAP0801T8, HT8 MMY-MAP0801T8, HT8
MMY-AP3601T8, HT8 MMY-MAP1001T8, HT8 MMY-MAP1001T8, HT8 MMY-MAP0801T8, HT8 MMY-MAP0801T8, HT8
MMY-AP3801T8, HT8 MMY-MAP1001T8, HT8 MMY-MAP1001T8, HT8 MMY-MAP1001T8, HT8 MMY-MAP0801T8, HT8
MMY-AP4001T8, HT8 MMY-MAP1001T8, HT8 MMY-MAP1001T8, HT8 MMY-MAP1001T8, HT8 MMY-MAP1001T8, HT8
MMY-AP4201T8, HT8 MMY-MAP1201T8, HT8 MMY-MAP1001T8, HT8 MMY-MAP1001T8, HT8 MMY-MAP1001T8, HT8
MMY-AP4401T8, HT8 MMY-MAP1201T8, HT8 MMY-MAP1201T8, HT8 MMY-MAP1001T8, HT8 MMY-MAP1001T8, HT8
MMY-AP4601T8, HT8 MMY-MAP1201T8, HT8 MMY-MAP1201T8, HT8 MMY-MAP1201T8, HT8 MMY-MAP1001T8, HT8
MMY-AP4801T8, HT8 MMY-MAP1201T8, HT8 MMY-MAP1201T8, HT8 MMY-MAP1201T8, HT8 MMY-MAP1201T8, HT8

N
ot

e 
4



104

Branch header/branch joint

Branch header
RBM-HY1043E, HY1083E, HY2043E,HY2083E

T-shape branching joint
RBM-BT13E

Gas side

Liquid side

Insulation

Insulation

Gas side Liquid side Balance pipe

Model  A B C ØD ØE n Accessory socket x quantity

RBM-HY1043E Gas side 380 90 83,6 7/8” 5/8” 3 6 x 4, 9 x 4, $ x 1, * x 1, ; x 1

 Liquid side 360 60 - 5/8” 3/8” 3 1 x 4, 6 x 1, 9 x 1

RBM-HY1083E Gas side 700 90 83,6 7/8” 5/8” 7 6 x 8, 9 x 8, $ x 1, * x 1, ; x 1

 Liquid side 680 60 - 5/8” 3/8” 7 1 x 8, 6 x 1, 9 x 1

RBM-HY2043E Gas side 385,5 95,5 89,3 1-1/4” 5/8” 3 6 x 2, 9 x 2, u x 1, O x 1

 Liquid side 360 60 - 5/8” 3/8” 3 1 x 2

RBM-HY2083E Gas side 705,5 95,5 89,3 1-1/4” 5/8” 7 6 x 7, 9 x 7, u x 1, O x 1

 Liquid side 680 60 - 5/8” 3/8” 7 1 x 7
 

 Accessory socket x quantity

Gas side a x 1, s x 1, A x 2, D x 2, F x 1

Liquid side $ x 2, * x 1, b x 2, n x 1

All dimensions are given in mm, except where indicated.



105

Y-shape branching joint
RBM-BY53E, BY103E

RBM-BY203E, BY303E

Gas side Liquid side

Insulation
Insulation

Gas side Liquid side

Insulation

Insulation

Model  A B ØC ØD Accessory socket x quantity

RBM-BY53E Gas side 250 80 5/8” 1/2” 5 x 2, R x 2, 9 x 1, Q x 1

 Liquid side 200 70 1/2” 3/8” 1 x 2, 5 x 1

RBM-BY103E Gas side 350 80 7/8” 3/4” 7 x 1, 0 x 1, # x 2, * x 1, W x 2, ; x 1, . x 1

 Liquid side 250 80 5/8” 1/2” 2 x 1, 5 x 2, 6 x 1, 9 x 1, R x 1

RBM-BY203E Gas side 350 80 1-1/4” 1-1/8” ^ x 1, ) x 1, u x 1, e x 2, i x 1, o x 1, I x 1, O x 1

 Liquid side 250 80 5/8” 5/8” 3 x 1, 6 x 1, 9 x 2

RBM-BY303E Gas side 400 110 1-1/2” 1-1/2” a x 3, s x 2, A x 2, D x 1, F x 1, G x 1, H x 1, J x 1

 Liquid side 350 80 7/8” 3/4” 4 x 1, 7 x 1, 0 x 1, # x 2, $ x 1, * x 1, W x 1
 

All dimensions are given in mm, except where indicated.



106

Accessory socket

Outside diameter Outside diameter

Outside diameter

Outside diameter

Outside diameter

Outside diameter

Outside diameter Outside diameter



107



108

Specifications are subject to change without notice.

Head Office: A-8010 Graz, Austria
Petersgasse 45 

Telefon: +43/316/8089, Fax: +43/316/826371 
E-mail: air-cond@air-cond.com, www.air-cond.com




